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ekWMy Á’u&i= lsV& II  

fo"k; & tho foKku 
Subject- BIOLOGY 

SECTION- A (BOTANY) 
 

 

Full Marks – 35   Pass Marks – 11½   Time – 1½ Hrs.  
 

GENERAL INSTRUCTIONS : 
 

All questions are compulsory. Candidates are required to give their answers in their 

own words, as far as practicable. 

Q.No. 1 to 10 multiple choice/objective type questions, each of 1 Mark. 

Q.No. 11 to 13 are very short answer type questions, each of 2 Marks. 

Q.No. 14 to 16 are short answer type questions, each of 3 Marks. 

Q.No. 17 to 18 are long answer type questions, each of 5 Marks. 

Marks distribution for different parts of a question are shown in the margin.  
 

lkekU; funsZ’k  
lHkh Á’u vfuok;Z gSaA ijh{kkFkÊ ;FkklEHko vius 'kCnksa esa mÙkj nsaA  
Á’u la[;k ¼1½ ls 10 oLrqfu"B Á’u ¼ÁR;sd ,d vad dk½ gSA lgh fodYi pqusaA  
Á’u la[;k ¼11½ ls ¼13½ rd ÁR;sd Á’u nks vadksa dk gSA  
Á’u la[;k ¼14½ ls ¼16½ rd ÁR;sd Á’u rhu vadksa dk gSA  
Á’u la[;k ¼17½ ls ¼18½ rd ÁR;sd Á’u ik¡p vadksa dk gSA  
ÁR;sd Á’u ds mijkUr esa vadksa dk fooj.k n’kkZ;k x;k gSA  
 

GROUP – A                     1 X 10 = 10  

1. Wind pollution is common in : 

(a) Orchids  (b) Legumes  (c) Lilies   (d) Grasses  

ok;q }kjk ijkx.k lkekU;r% buesa gksrs gSaA  
(a) vkSjfdM  (b) ySX;we   (c) fyyh   (d) ?kkl  
 

2. The edible part of the coconut is : 

(a) Epicarp  (b) Mesocarp (c) Endocarp (d) Endosperm  

ukfj;y dk [kkus ;ksX; Hkkx gksrk gSA  
(a) ,fidkiZ  (b) fetksdkiZ   (c) ,.MksdkiZ   (d) Hkzw.kiksl  

 

3. The process of synthesis of messenger RNA on the DNA template is called : 

(a) Replication (b) Transcription (c) Translation (d) Reverse transcription   

Mh,u, ds Áfreku ds vk/kkj ij vkj,u, dh la’ys"k.k fØ;k dgykrk gSA  
(a) jssfIyds"k.k  (b) VªkUlfØi"k.k (c) VªkUlys"k.k  (d) fjHklZ VªkUlfØi"k.k  
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4. The embryo sac of a typical dicotyledonous plant at the time of fertilization is :  

(a) 8-Cells  (b) 7-Cells  (c) 6-Cells  (d) 5-Cells   

fu’kspu ds le; ,d lkekU; Hkzw.kdks’k esa gksrk gSA  
(a) 8&dksf’kdk,¡   (b) 7&dksf’kdk,¡ (c) 6&dksf’kdk,¡  (d) 5&dksf’kdk,¡  

 

5. Insect pollinated flowers are referred as :  

(a) Entomophily   (b) Ornithophily  (c) Anemophily  (d) Hydrophily   

Qwyksa ftuesa fdV }kjk ijkx.k gksrk gS] dgykrs gSaA  
(a) ,.VkseksfQyh  (b) vkWjfu;ksfQyh  (c) ,fueksfQyh  (d) gbMªksfQyh   

 

6. The Okazaki fragments on the lag are joined together by the enzyme : 

(a) DNA primase   (b) DNA polymerase  (c) DNA ligase  (d) Helicase  

foyfEcr /kkxs ij vksdktkdh foHkäksa dks ,d lkFk tksM+rk gSA  
(a) Mh,u, Áest  (b) Mh,u, iksfyejst  (c) Mh,u, ykÃxst  (d) gsfydst  

 

7. How many meiotic division will result in the formation of 100 seeds ? 

(a) 125  (b) 100 (c) 200 (d) 150  

100 chtksa dks cuus esa fdrus v/kZlwf= foHkktu dh vko’;drk gksxkA  
(a) 125  (b) 100  (c) 200   (d) 150 

 

8. The toxic protein produced by the Baccilus thurengensis is : 

(a) Cry-protein  (b) Auxins (c) Leg haemoglobin  (d) Opines   

cSflyl F;wjsCtsfll }kjk fo"kkä ÁksVhu dgykrk gSA  
(a) Øk;&ÁksVhu   (b) vkWDlhu   (c) ySx&fgeksXyksfcu  (d) vkWikÃu  

 

9. Highest per capita fossil energy consumption is of which country ? 

(a) India  (b) China   (c) America  (d) Japan  

ÁfrO;fä lcls vf/kd thok’e mtkZ dk [kir fdl ns’k esa gSA  
(a) Hkkjr   (b) phu   (c) vesfjdk    (d) tkiku  

 

10.  Conservation of flora and fauna in its natural habitat is : 

(a) In situ conservation   (b) Ex-situ conservation  

(c) In vivo conservation   (d) In vitro conservation   

vius ÁkÑfrdokl esa tUrqvksa o ikS/kksa dk laj{k.k dgykrk gSA  
(a) Ãu flV~ laj{k.k   (b) ,Dl&flVw laj{k.k   

(c) Ãu fooks laj{k.k    (d) Ãu foVªks laj{k.k   
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GROUP – B          2 X 3 = 6  
 

11.  The anaerobic breakdown of fermentation is (a)                         while putrefactions 

is of (b)  

,u,sjksfcd fo?kVu esa Qjesa.Vsl.k (a)                          dk gksrk gS] tcfd I;wVªhQSD’k.k   
(b)                 dk gksrk gSA  
 

12.  The chromosomal ploidy status of a zygote is (a)                   then of the 

endosperm is (b)  

tkÃxksV esa xq.klw=h lw=lewg (a)                          gksrk gS] rks Hkzw.kiks"k esa (b)  

gksrk gSA   
 

 

13.  Draw a labeled diagram of an orthotropous ovule.  

,d vksFkksZVªksfid cht.M ds ukfer fp= cuk;saA  
 
 

GROUP – C           3 X 3 = 9 
 

14.  If a female dwarf plant with the genotype tt is crossed to a male tall plant of 

garden pea then the genotype of the (a) Egg   (b) Pollen grain   (c) Zygote            

(d) Polar nuclei   (e) Synergids and  (f) Antipodal cells will be : If T is for tall t for 

dwarb.  

(a)                   (b)                      (c)                   (d)                  (e)              (f)  

 eVj esa ,d fBxuk dks yEck uj ls ladj.k djkus ij fuEu dk ftuksVkÃi] (a) MhEc      

(b) iweax (c) Hkzw.k (d) iksyj U;wfDyÃVk (e) flujthM+ (f) ,sfUViksM+y dksf’kdk dk D;k gksxk] 
;fn T yEck o t fBxuk ds fy, gSA   

 

15.  Match 1, 2 and 3 with the options a, b and c ; 

1. Renewable source of energy    (a) Solar radiation  

2. Ultimate source of energy    (b) Coal and petroleum  

3. Fossil Fuel      (c) Wood and charcoal  

1] 2] 3 dk a, b, c ds lkFk tksM+k cuk;sa  
1- uohuhdj.k mtkZ dk lzksr  ¼a½ lkS;Z fofdj.k  
2- ewyHkwr mtkZ dk lzksr   ¼b½ dks;yk o isVªksy  
3- thok’e mtkZ    ¼c½ ydM+h o pkjdksy  

 

 

16.  What is DNA finger printing ? How it can be used in determining the parentage of 

a disputable child ?  
Mh,u, fQUxj fÁUVhax D;k gS \ fdlh f’k’kq ds fookfnr ekrk&firk dks dSls irk yxkrs gSa \  
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GROUP – D           5 X 2 = 10 
 

17.  Explain Mendel’s mono hybrid cross. How segregation and assortment differ from 

each other. 

es.My ,d xqf.k; ladj.k dk mYys[k djsaA i`Fkddj.k o xq.kksa ds feJ.k fdl rjg dk 
Hksn gS \  
 

OR 

Explain how the incomplete dominance results into the modification of Mendel’s 

Ratio.  

fdl Ádkj ls viw.kZ ÁHkkfodj.k es.My ds fu;eksa dks ifjoÆÙkr djrs gSaA  
 

 

18.  Match 1, 2, 3, 4 and 5 with correct choices in a, b, c, d and e : 

1. Primase    (a) Separation of DNA strands  

2. Ligase    (b) RNA primer  

3. RNA polymerase  (c) Transcription of RNA  

4. Okazaki fragments  (d) Broken pieces of DNA on lag strand  

5. Helicase    (e) Join strands together  

1] 2] 3] 4] 5 dk tksM+k a, b, c, d, e  ls djsaA  
1- ÁkÃHkst    ¼a½ Mh,u, ds /kkxksa dks vyx djuk  
2- ykÃxst    ¼b½ vkj,u, Ák;ej  
3- vkj,u, iksfyxjst  ¼c½ vkj,u, dk Vªk.lfØi"k.k  
4- vksdktkdh foHkäksa  ¼d½ VwVs gq, Mh,u, ds /kkxs tks ySx /kkxs ij curs gSa  
5- gsfydst    ¼e½ /kkxksa dks tksM+rk gSA  


